BE R R e 2020 ~ 2021 AR AR FHETERAE I %

. . CET-4 CET— HEREE L3 T-E EPTES T )
¥5 #H ¥4 3] KT G1% 4 |G14Mi BEED | AK|BFER|AK| A% G24MK | G349 | GAME % | EwAK| 4% |ERAK RELEY | HEMAKA £
3161902013 v #1801 BRIR £ b:s H£HFHA R t% | 24.10 £ 524 = 548 45.00 | 12.60 | 81.70 1 28 2 28 — %%
3170101007 v 41801 A b:s #£H AR LA | 23.47 = 512 = 447 33.90 | 1.00 [58.37| 11 28 11 28
3180101001 v 41801 % FHRTE R R LA | 23.52 £ 447 e 458 36.20 | 1.50 | 61.22 6 28 9 28 =3
3180101004 7 #1801 % HEH R 4 | 23.81 £ 448 F 33.80 | 0.00 |57.61] 12 28 13 28
3180101006 v 41801 % FHRTE R R HhE | 24.12 = 514 = 482 34.60 | 13.50 | 72.22 8 28 4 28
3180101009 v 41801 % £ HHA R % | 24.10 £ 452 = 429 36.40 | 1.50 | 62.00 5 28 8 28
3180101026 v 41801 g ozl h% |24.49 £ 433 & 35.10 | 21.70 | 81.29 7 28 3 28
3180101030 7 #1801 g #£HH R L 4F [ 23.34 £ 587 £ 544 43.80 | 16.00 | 83.14 2 28 1 28 %
3170702005 #F 1801 % FHRTE R R L 12404 £ 557 = 616 41.6 | 7.5 |73.14 6 67 7 37 k&
3170704005 #1801 3 “ £EHR 4 [23.98 2 624 £ 524 42.5 | 12.5 [78.98 3 67 2 37 K
3170906011 T 1801 3 % = FHRTE R R HhE 24,19 = 554 = 521 40.7 | 10.5 [75.39| 10 67 4 37 %
3180102002 #1801 3 i} B B % HEH R % |24.60 £ 570 £ 534 41.9 25 | 91.50 5 67 1 37 %
3180102003 HH 1801 3 A Xk b:s FTE R R t% |24.09 = 510 b 487 39.7 6 [69.79] 16 67 11 37 %
3180102009 #1801 FF A % Pih- il 2 4F [23.85 £ 431 £ 436 39 3 [6585] 20 67 16 37 K
3180102011 H T 1801 FF Y &4 % KEH LA [23.97 2 465 = 449 40.4 | 10.5 | 74.87| 14 67 5 37 %
3180102012 HH 1801 3 BT % HEH A [24.06 £ 574 £ 508 43.1 | 11.5 | 78.66 2 67 3 37 g
3180102014 #F 1801 TH# % Pah- il 24 23,96 £ 457 = 525 38.6 5 67.56 | 24 67 14 37
3180102015 #1801 FF | 4 4 % KEH t%& |24.18 2 610 £ 493 40.5 5 169.68] 12 67 12 37 B
3180102017 T 1801 3 ¥ FH % T L4 12391 = 626 = 520 39.5 | 1.5 |64.91 17 67 18 37 %
3180102021 #1801 3 2 Z HEH S 24,06 2 515 £ 456 39.5 | 2.5 [66.06] 17 67 15 37 B
3180102024 #1801 3 APt Z KEH *%E [24.24 2 557 £ 431 37.9 | 8.1 [70.24] 26 67 10 37
3180102028 H 1801 3 AT A g KEH B [23.94 £ 474 £ 442 38.3 | 9.5 [71.74| 25 67 9 37
3180102029 #f 1801 3 FHEE g £EH #HhE 24,10 £ 503 & 479 41.2 | 6.5 |71.80 7 67 8 37 —&%
3180102032 #1801 3 : z KEH % |24.09 2 544 £ 434 40.8 | 3.5 [68.39] 9 67 13 37 K
3180102039 H T 18023 % #£HH HhE |24.25 = 528 2 443 42 13.5 | 79.75 4 67 2 30 —&%
3180102044 #1802 3 % TR E % [24.54 2 505 £ 446 43.3 | 18.5 |86.34 1 67 1 30 — %%
3180102045 H T 1802 3 % A TE S HhE 24,34 = 512 2 474 40.2 8 72.54| 15 67 5 30 &%
3180102048 # ) 18025 % FHRTE R R h% |24.33 £ 548 = 449 38.7 | 4.5 |67.53]| 23 67 6 30 g
3180102052 # ) 18023 % £ AR L4 ]24.05 £ 523 = 459 41 12 | 77.05 8 67 3 30 %
3180102057 H 180271 z HFH R 2 4F [24.09 £ 488 £ 453 40.7 | 10.5 [75.29] 10 67 4 30 K
3180102066 #1802 3 5 H£HHA R 24 23,91 £ 543 £ 429 38.8 | 1.5 |e4. 21| 21 67 10 30 k¥
3180114002 & #1801 % £EHAR % 24,01 £ 478 = 459 39.4 4 [67.41 3 27 6 27 k&
3180114003 #1801 % #£HH R th% |23.88 £ 531 £ 472 38.7 9 [71.58 4 27 3 27 %
3180114006 4 %1801 % TR R #HhE |23.97 £ 571 & 485 39.6 5 [68.57 2 27 4 27 k& b = 4
3180114007 4 #1801 = HF R #HhE 24,19 £ 481 = 37.8 | 10.5 |72.49 5 27 2 27 BT
3180114011 #1801 % #£HH R t% |24.16 Z 502 = 35.6 8 [67.76 8 27 5 27 Beth T
3180114025 1801 g B 423,69 £ 439 & 36.5 6 [66.19 6 27 7 27 It
3180114027 1801 g £ R L 12370 £ 523 2 499 42.5 13 ]79.20 1 27 1 27 —&% ;i B AT A
3180114028 1801 5 £HHA R 2 4F | 23.67 2 568 £ 501 6.5 35.6 0 [59.27 8 27 11 27 —E&¥
3180113002 4 5 BR 1801 b:s £EHR #Hh%E |24.03 £ 537 e 482 38.6 | 0.5 |63.13 7 26 9 26 &y
3180113007 7 3 [E BT 1801 b:s £HHR t% |24.35 = 540 2 485 36.2 | 2.5 |63.05 9 26 10 26 &y
3180113009 #E PR 1801 % FRTE R R 24 23,68 £ 542 = 487 41.99 | 9.5 |75.08 4 26 2 26 &y
3180113010 4 15 BR 1801 b:s £HEHR L 23,56 £ 543 = 488 44.3 | 9.1 |76.96 2 26 1 26 —&y
3180113012 4 12 BT 1801 % £EHR LA 23,61 = 545 2 490 44.8 5 73.41 1 26 4 26 —&%
3180113020 # B[ PR 1801 5 £EHR 4 124,02 £ 550 £ 495 43 0.5 [67.52 3 26 6 26 &%
3180113021 4 15 BR 1801 g £EHR #HhE 24,18 £ 551 = 496 38.3 | 2.5 |64.98 8 26 8 26 %
3180113026 4 15 BT 1801 g £HEHR HhE |24.55 = 555 b3 500 39.3 | 10.6 | 74.45 6 26 3 26 %
3180113028 i E BT 1801 g £EHAR HhE |24.27 £ 600 = 550 39.7 | 1.5 |65.47 5 26 7 26 k
3190101005 #1901 P BEAX B4F 2391 £ 582 £ 474 39.50 [16.10 | 79.51 5 34 1 34 K
3190101025 #1901 5 BE Ax thE |24.45 £ 606 £ 485 42.80 | 10.80 | 78.05 2 34 2 34 %
3180804024 #1901 5 BEAx thE |24.22 2 473 £ 435 44.30 | 9.50 [78.02 1 34 3 34 k¥
3180706013 #1901 g £EHR HhE 24,19 = 447 = 440 38.30 | 10.00 [ 72.49| 10 34 4 34 %
3190101022 #1901 Z £HEHR HhE |24.22 £ 485 = 457 38.90 | 9.30 |72.42 7 34 5 34 &
3190102004 21901 % £EHR h% |24.22 £ 574 b 443 38.30 | 9.80 |72.32 10 34 6 34 %
3180409012 #1901 g £EHR L2397 = 544 = 482 40.20 | 8.00 | 72.17 4 34 7 34 %
3180704040 #1901 % £EHR 24 23,96 £ 594 = 459 38.90 | 9.00 | 71.86 7 34 8 34 %
3180503088 H #1901 5 BEAx L 4F [23.94 2 527 £ 445 39.20 | 8.00 | 71.14 6 34 9 34 K
3190101003 #1901 % £EHR L 24,09 = 544 = 447 41.40 | 5.30 | 70.79 3 34 10 34 %
3180208029 #1901 % £EHR 4 24,08 £ 532 = 469 38.50 | 7.00 |69.58 9 34 11 34 %
3190113029 57 % B[ BT 1901 g £EHR L 24,37 £ 599 = 579 43.3 25 192.67 2 27 1 27 %
3190113009 7 % B[ BF 1901 % £HEHR HhE |24.47 = 657 b3 657 7 46 20 ]90.47 1 27 2 27 %
3190113013 7 % B[ BF 1901 Z £EHR #Hh%E |24.50 £ 585 = 562 42.7 | 19.2 [86.40 3 27 3 27 k&
3190113005 7 % B[ BF 1901 % £EHR % |24.56 £ 578 = 478 6 41.7 | 18.3 [84.56 4 27 4 27 %
3190113027 7 % B BF 1901 5 HHH 7 B [24.29 £ 577 £ 519 39.7 [ 17.2 [81.19 7 27 5 27 %




3190113008 7 % B BF 1901 % HEH R B [24.20 £ 575 £ 617 6.5 40.9 | 10.3 |75.40 5 27 6 27 B % = %
3190113017 7 % B[ BF 1901 Z £EHR HhE 12473 £ 575 = 504 6.5 38.5 | 7.9 [71.13 9 27 7 27 2 Bt F
3190113006 ok 1901 % £EHR HhE |24.43 = 526 & 483 39.5 | 6.8 |70.73 8 27 8 27 &y Fr
3190113010 7 % B[ BT 1901 % £HEHR HhE |24.49 = 493 2 468 40.1 | 0.4 [64.99 6 27 12 27 &y

3181402036 4 %1901 b:s £EHR A | 24.20 £ 565 e 517 42.7 | 7.75 | 74.65 1 27 4 27 —&%

3190114008 4 %1901 b:s FRTE R R #Hh%E | 24.75 = 536 & 462 39.9 | 16.1 [80.75 3 27 2 27 —&%

3190114009 4 %1901 % £EHR HhE | 24.71 = 543 2 502 42.1 | 21.7 |88.51 2 27 1 27 —&%

3190114011 4 %1901 % £EHR #HhE | 24.57 £ 621 & 538 38. 1 4 |66.67 7 27 8 27 &y

3190114021 4 #1901 g HEH R B | 24.19 £ 624 £ 524 37.5 7 168.69 8 27 7 27 B X Ix = 4F
3190114025 4 %1901 it ok £EHR t% | 24.66 £ 543 = 445 39.2 5 68. 86 5 27 6 27 &% I = 4F
3180702014 4 %1901 £F Z £EHR LA | 24.20 = 530 = 480 39. 1 14 77.3 6 27 3 27 &y % = 4F
3190114007 4 %1901 R # % £EHR LA | 24,36 = 533 = 461 35.4 | 2.4 |62.16]| 11 27 10 27

3181902023 #1902 K % £EHR % | 24.03 £ 574 = 572 44.6 17 |85.63 1 95 1 32 —&y B = AR A
3190102011 HF 1901 % HEH R B4 | 24.33 £ 549 £ 505 41.9 25 |91.23 4 95 1 33 &%

3190102081 T 1903 Z £HEHR % | 24.78 = 579 2 513 41.4 | 24.3 ]90.48 5 95 1 30 —&%

3190102015 #f 1901 % £EHR HhE | 24.47 £ 548 = 496 41 25 190.47 7 95 2 33 —&%

3190102024 T 1901 g £EHR #HhE | 24.73 = 540 2 514 39.7 25 |89.43 10 95 3 33 —&¥

3190102082 T 1903 Z £EHR % | 24.78 = 427 2 548 36. 1 25 | 85.88 19 95 2 30 &y

3180306009 #1903 % £EHR *#E | 24.9 2 588 £ 470 38 20.3 | 83.2 13 95 3 30 B

3190102041 #1902 b:s £EHR % | 24.54 = 565 b 505 32.9 25 [82.44| 38 95 2 32

3180702005 T 1901 % £EHR % | 24.58 = 472 2 507 40.1 17_|81.68 9 95 5 33 .

3190102023 T 1901 Z FRTE R R % | 24.87 = 601 b 544 33.9 | 22.4 [81.17] 35 95 6 33

3190102062 #1903 % £EHR % | 24.38 = 614 b3 537 31.6 | 24.4 [80.38| 46 95 4 30

3190102022 # A 1901 g EEHR % | 24.57 £ 558 = 458 32 23.8 |80.37 | 42 95 7 33

3180901021 #1903 b:s £HEHR #Hh%E | 24.54 = 541 = 436 35.7 | 18.8 [79.04]| 21 95 5 30 BT

3180704079 T 1901 % £HEHR HhE | 24.42 = 533 2 426 41.2 | 13.2 |78.82 6 95 10 33 —&%

3190102042 #1902 “ £EHR *#E | 24.3 2 601 £ 550 32.2 | 19.8 | 76.3 41 95 3 32

3190102056 #1902 g £EHR HhE | 24.41 £ 490 & 415 40.2 | 10.8 | 75.41 8 95 4 32

3190102040 T 1902 b:s £HHR B4 [ 23.93 £ 448 = 309 35.7 | 14.3 |73.93] 21 95 5 32

3180103007 #1903 % £EHR % | 24.29 £ 512 e 449 38.5 | 10.7 |73.49 12 95 6 30 —&%

3190102007 T 1901 = £EHR #HhE | 24.62 = 534 2 441 37 11.3 [72.92 16 95 11 33 B2

3180704077 T 1901 % £EHR t% | 24.43 £ 521 = 419 37.1 | 11.3 |72.83 15 95 9 33

3190102014 T 1901 b:s £EHR LA | 24.24 £ 573 = 440 32.7 | 15.6 |72.54| 40 95 16 33

3190102018 T 1901 % £EHR LA | 24.34 = 530 = 511 37.5 | 8.6 |70.44 14 95 13 33 %

3190102048 #1902 % EHEHR #*% | 24.05 Z 570 £ 436 36 10.1 [70.15] 20 95 7 32 g

3190102068 T 1903 b:s £HEHR % | 24.25 = 579 = 481 34.6 | 11.1 169.95| 29 95 7 30 %

3190102012 HF 1901 % HEH R B | 24.27 £ 543 £ 461 42.3 | 3.3 |69.87 3 95 14 33 %

3190102075 #1903 % EEHR % | 24.27 £ 621 £ 538 35.2 | 10.2 [69.67| 24 95 8 30 g

3180208001 #1903 b:s £HEHR LA | 24.12 = 511 = 434 36.6 | 8.55 |69.27 17 95 9 30 k

3181902011 #1902 % £HEHR LA | 23.92 = 467 = 430 38.7 | 5.1 |67.72 11 95 9 32 %

3190102008 HF 1901 % £EHR 2 4F | 24.15 £ 484 £ 468 34.3 | 8.6 |67.05] 32 95 17 33 K

3190102053 #1902 g £EHR h% | 24.11 = 550 b 470 34.8 | 7.8 |66.71| 26 95 10 32 %

3190102076 #1903 “ £HEHR 2 4F | 24.16 £ 521 £ | 458 34.6 | 7.8 |66.56 | 29 95 10 30 K

3190102020 1901 {7 15 51 g B LA | 2411 £ 596 = 444 34.9 | 6.7 [65.71| 25 95 18 33 k

3190102058 #1902 ATE z HEH R LA | 23.93 £ 514 £ 451 36.6 | 4.2 [64.73] 17 95 12 32 %

3190102077 T 1903 KN % £HEH R S8 24 = 577 = 444 34.7 | 5.6 | 64.3 28 95 12 30 %

3190102069 #1903 WEE % £EHR % | 24.39 £ 531 2 437 34.1 | 5.9 |64.39]| 33 95 11 30 &y

3190102055 B 1902 *FR z FHFE R R t%& | 24.34 £ 469 & 400 34.6 | 9.2 |es. 14| 29 95 8 32 BEfh T
3191501027 #2001 Wb Z EEHR # |23.28 Z 557 = 511 40.4 0 [63.68 1 32 6 32 3 b = 4F
3200101023 ERF z S alal t% [23.72 £ 572 £ 482 39.8 2 |65.52 2 32 4 32 i
3190212347 F AR g Eidi il # ]23.39 & 558 = 501 39.5 0 [62.89 3 32 7 32 i
3200101002 ZEA i 2 B t% |23.90 £ 483 = 452 39.3 7 [70.20 4 32 1 32 it
3200101025 Fhik A g Eiscatila 2 4F [23.40 = 475 o 39 2.6 |65.00 5 32 5 32 i
3200101005 E3 B t% |23.72 £ 522 = 524 35.3 | 3.5 [62.52 6 32 8 32 i
3200101020 g B3 aili| 24 |23.44 £ 549 g 442 34.2 4 l61.64 8 32 10 32 i
3200101026 g S eailal t%& |24.14 £ 477 = 431 34.1 | 10.6 [68.84 10 32 2 32 =k
3190904026 F B L4 |23, 40 £ 475 @\ 34.3 10 _[67.70 7 32 3 32 =
3200113012 g £ R L% | 24.32 £ 563 % 43.6 | 16.75 | 84. 67 1 29 1 29 F =4
3200113006 £[ 7. 2001 £EAR £ % | 23.53 £ 570 Z 596 42.8 | 4.5 [70.83 2 29 2 29 =
3200113019 BE 2001 5 B Ax 24 | 23.39 £ 532 = 491 42.5 1 [66.89 3 29 5 29 #
3200113001 £[ 72001 % LEAR # [ 23.43 £ 533 Z 513 39.5 | 5.6 [68.53] 4 29 3 29 #
3200113005 F%.2001 s £ R t% |23.63 = 560 g 560 39. 1 5 67.73 5 29 4 29 #
3200113007 % LER R i | 23.37 £ 515 Z 492 38.9 3 [65.27] 6 29 8 29 -
3200113027 g e azilal 24 | 23,50 £ 515 & 38 0 |61.50 7 29 13 29

3200113028 g SEEHR i | 23.41 2 513 2 547 38 0 61.41 7 29 14 29

3200113003 Eeazilal t% | 23.70 £ 569 = 487 37.9 | 5.2 [66.80] 10 29 6 29

3200113017 £ 72001 % 7 B # | 23.27 £ 542 £z 516 36.2 6 [65.47] 13 29 7 29

3200113002 5 fF 2001 B RE “ il b7 | 23.84 £ 552 = 455 34.4 | 6.6 [64.84] 14 29 9 29

3200114003 B 5 2001 ESil s EEH R W 24 £ 520 g 484 40. 1 11 [ 75.1 1 29 3 29 —

3200114024 42 2001 Y5 g EEHR % | 23.78 = 534 g 461 38.3 | 10.5 [ 172.58 2 29 5 29 =

3200114002 B 5 2001 A £EHH R i [ 23.62 £ 468 2 434 37.1 11 [71.72 3 29 6 29 =




¥ 3200114015 B 2001 EIN £ HH t% | 23.98 Z 582 2 504 36. 7 14 | 74.68 4 29 4 29 B
¥ 3200114016 4 BB ¥ 2001 21 E il L4 | 237 £ 549 7 523 36.7 | 2.5 | 62.9 4 29 15 29 —E¥
¥ 3200114022 B HF 2001 FHEE 7 £HA L4 [23.74 £ 517 g 469 35.6 7 |]66.34 8 29 9 29 =%
¥ 3200114004 4 B BF 2001 B T AR % E il L4 | 23,51 £ 516 % 396 36.7 | 3.5 [63.71 4 29 14 29 —E¥
3200114007 B #2001 G % Ea il 23. 66 £ 543 £ 538 36.4 | 4.5 |64.56 7 29 12 29 %
3200114008 4 B BF 2001 F3: s E il L7 | 24.46 £ 460 % 390 35.4 | 18.6 | 78.46 9 29 1 29 &y
3200114013 B 2001 JE A % £ HH £ % | 24.04 Z 486 % 35.1 | 18.25 [ 77.39 | 11 29 2 29
3200114023 4 B BF 2001 £ B i g E il % | 24.48 £ 531 = 510 34.6 11 [70.08] 12 29 8 29
3200114026 B 2001 BEX g Eiinzilla £ % 23.90 2 557 = 479 35.3 11 70.2 10 29 7 29 B2
3200102011 S 5 ERs () 2001 T 44T HEHE #% | 23 87 2 539 2 479 41.8 | 42 [69.87 1 106 1 29 —5%
3200102012 e 5 Ry EL s (i) 2001 o0 2 4 HEHE B4t | 93 39 2 592 2 552 40 2.7 166.09 2 106 2 29 —&%
3190103010 #er 5w #E (Jfs) 2004 M £ EH R BIF | 24.4 = 647 £ 582 39.9 5 69.3 3 106 4 19 — &%
3200102032 By G A () 2002 WAF HEHE f#%& | 23 75 £ 580 2 475 38.8 | 3.5 [66.05 4 106 1 29 — &%
3200102010 S5y ElAE () 2001 B 4 HEHE B 2339 2 556 2 489 383 | 39 [65.59 5 106 4 29 —&%
3190505009 5 R (JEsE) 2004 i1 B =dzil L 24.7 £ 583 2 504 37.9 5 __|67.60 6 106 5 19 —&%
3190604038 £5hE#E (Jfij) 2004 A+ F E:X=dzilbi N 24.6 £ 576 = 554 37.6 | 205 |82.70 7 106 1 19 ¥
3200102077 e bW #E () 2003 2R BE Z HEH R L 24.55 2 586 £ 479 37.6 | 4.5 |66.65 8 106 1 29 — &% q
Sy o AL o o 3200102017 | #e# 5 R E s () 2001 T Fi % z B o B4t | 93 30 2 529 2 581 a7 3.7 [64.00 9 106 5 29 —E% ;
HERFFR 3190103058 #Her G w A e (Vi) 2004 it ] HEHE BAF | 24.4 2 599 2 515 35.3 15 |74.70] 10 106 2 19 — &% %
P 3200102001 drer bRy EAsE () 2001 Xl = HEHE #% | 24 21 2 574 £ 447 35.2 | 55 [64.91 11 106 3 29 —5% P
HERFFR 3200102033 #Her G wA#E (Vi) 2002 3[4 4% HEHE B4t | o3 62 2 545 2 457 35.2 4 [62.82 12 106 3 29 —&y !
P 3200102013 | #e# 5 R E % () 2001 EX2 HEHE B4r | 93 39 2 545 £ 514 35.1 | 05 [58.99 13 106 10 29 Z5% P
HERFFR 3190212058 #Her G w A e (Vi) 2004 I [ EX Tl A | 24.9 2 507 2 444 35 05 60.40 14 106 10 19 &% !
|4 7 3200102016 Hror b Ry FLA s (iS5 2001 {63 4 48 Z HEHE B4 | 93 97 2 559 % 418 34.8 2 160.07 15 106 & 29 BT P
: z 3200102053 Ber G F e (%) 2002 % 2 z HEHE B4 | 93 29 2 549 % 34.7 | 3.9 [61.89 16 106 6 29 BT I
3200102071 FERREE (Vi) 2003 % T 4% |03 63 2 R0 2 480 3.4 | 4.5 |62.53 | 17 106 2 29 B2 F
3200102043 R R (%) 2002 | s z HEHE #% | 23 80 2 435 % 34.3 4 ]62.10 18 106 5 29 BT I
3190801001 FHNASKE (JEfE) 2004 | T EEF G A | 24.3 2 549 ES 341 | 19 7040 | 19 106 3 19 cEY £
3200102036 5N E#E (i) 2002 X1 3 £EFE Bt | o3 34 2 515 2 441 33.9 0 [57.24 20 106 7 29 BT
3200102074 FhHN S (V) 2003 B E z HEH R B4F [ 23.17 2 559 £ 490 33.9 0 [57.07 21 106 6 29 &%
3190805069 FhHN S (V) 2004 it EX Tl f# % 25 Z 593 2 536 33.8 6 |64.80 22 106 7 19 &% BEpt T
3190910045 FhHN S (V%) 2004 R = B2 azilil it | 24.3 2 547 2 470 33.7 | 45 [62.50 23 106 8 19 &% Bt T
Sy o AL o s 3200102021 drer bR EAsE () 2001 ELT z HEHE B | 23 30 2 577 % 410 331 L5 |57.90 24 106 12 29 Z5% I =
HERFFR 3200102052 HrENAHKE (k) 2002 x4 & [ EX Tl B4t | o3 a8 2 530 % 33. 1 0 [56.48 25 106 10 29 &%
By o2 L o S I 3200102004 | #rer 5 R E e () 2001 % fr i HEHE f#% | 23 67 2 602 2 540 a3 3.2 [59.87 26 106 7 29 Z&y
HEHEE 3200102042 #Her G w A e (Vi) 2002 B g HEHE 4% | 923 54 2 542 2 448 32 1.5 |57.04 28 106 8 29 &%
e : 3200102029 Hror b Ry ELA s (i) 2001 BTG z HEHE #% | 23 67 2 482 2 436 316 | 39 [59.17 30 106 9 29
3 z 3200102062 5N EEE (JfisE) 2003 EEE £EFE Bir | 93 41 2 485 ES 399 3.6 | 2.5 |[57.51 31 106 5 29 BT
E z 3200102030 5 A% (i) 2002 EE £EFE B4t | 93 43 2 505 % 31.5 0 [54.93 32 106 11 29 B
; a3 3190110030 e bW R #E () 2004 [k HEHE E# | 24.6 2 538 % 31.2 | 55 [61.30 33 106 9 19 &% BEfh T
bk et AL 3200102023 He 5N H%EE (HH) 2001 AEEA k] HEFA B4 |23 20 £ 586 £ 568 309 | 45 |58.60 37 106 11 29 g = 4F
B o2 Lo o 3200102003 | #er 5 R E e () 2001 EaE: HEHE B4r | 93 39 2 511 = 308 | 37 [57.89 38 106 13 29 I =4
BEREFIR 3200102075 | #FHmA%KE (k) 2003 | #kEFKw | 2 SFF R H7 | 24.42 £ [587] 2  [438 30.4 | 3.5 158.32 1 39 106 4 29 E=4
L F IR 3190004010 | HFENAKS (i) 2004 | Z#p HEH B (& | 24.7 £ 572 £ 449 30.2 | 108 |65.70 | 41 106 6 19 I = 4%
EE 3200102025 i By E A () 2001 JF £ £ Z HEHE #% | 23 66 2 588 2 507 302 | 54 [59.26 42 106 ] 29 [z =4
S 3200102066 5 R #E (Jfsh) 2003 Btk HEFE B4 | 23 59 2 509 % 413 30.2 | 5.5 159.29 44 106 3 29 [ =4
FEr 3200102057 FHNFEE (Vi) 2002 457 = HEFE 4% | 923 59 2 559 2 545 29.1 | 9.5 [62.19 48 106 4 29 [ = 4




